B 6T = 6B ==

Phép trir s6 thap phan (3 chir s6)

Tén:

1.927
—9.868

3.028
—2.531

8.764
—-8.747

2.68
—8.003

5.187
—8.951

1.537
—3.508

8.363
-2.15

7.422
-9.524

2.654
—3.635

5.774
—/.47

4.923
—3.802

4.625
-5.515

1.177
—6.65

0.099
—-4.386

0.936
-9.312
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Ngay thang:

5.766
-9.793

7.047
—2.266

1.449
—-2.358

0.569
-9.402

4.962
—-9.557

3.425
-2.012

0.132
—3.846

8.331
-5.09

5.772
-4.138

0.788
—-/.336

Piém:
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By 656 =% B0 Phép trir s6 thap phan (3 chif s6)
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Tén: Ngay thang: Piém: ____
1.927 1.537 4,923 5.766 3.425
-9.868 -3.508 -3.802 -9.793 -2.012
—7,941 -1, 971 1,121 -4,027 1,413
3.028 8.363 4.625 7.047 0.132
—2.531 -2.15 -5.515 —-2.266 -3.846
0,497 6,213 -0, 89 4,781 -3, 714
8.764 7.422 1.177 1.449 8.331
-8.747 -9.524 —-6.65 —-2.358 -5.09
0,017 =-2,102 -5,473 -0, 909 3, 241
2.68 2.654 0.099 0.569 5.772
-8.003 -3.635 -4.386 -9.402 -4.138
-5,323 -0, 981 -4,287 -8, 833 1,634
5.187 5.774 0.936 4,962 0.788
—-8.951 -7.47 -9.312 -9.557 -7.336
-3,764 -1, 696 -8, 376 -4, 595 -6, 548
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